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Consider the followin irs :
! g pairs :
1. Rani Durgawati Gondwana
2. Chand Bibj Ahmadnagar
3. Zuhra Muhammad Shah

How many of the above pairs are correctly matched? _
(B) Only two pairs

(A) Only one pair
(C) All three pairs
(E)  Question not attempted

frffias gt w2 R :

Consider the following pairs :
1. Amir-i-Dad :
2. Turkan-i-Chahalgani

3 Barid-i-mamalik

(A) Only one pair
(C) All three pairs

(D) None of the pairs

(B) &aw &t g
(D) ¥ @ w1 oft g T

Law officer who carried out the decisions of the judges
A group of forty |

Head of the information and intelligence department

How many of the above pairs aré correctly matched?
: (B) Only two pairs
(D) None of the pairs.

(E) Question not attempted
fr=fafea gt ot faar Sifv: -
1. MPR-T<w 2 fafts sfyert wit srit % fofa & Frenfia Fvar an
2. g@T-u-geeEl : OEEEEE _

3. aEE-g-wmEE T gE S et R v

Tudiea g | e g e gafora €7

(A) FTaTHgH ' (B) e @ g™

(C) =t 7= (D) T & B o g

(E) Irgaia g

Consider the following pairs :
1 Sur Das . Sur Sagar
Kirtan Ghosh

2. Shankardeva
Sant Tukaram Abhangas

ched?

3.
bove pairs are correctly mat _
How many of the above pairs Byl it patie

(A) Only one pair
(C) All three pairs
(E) -Question not attempted
frfafaa gl ot fermmt ST
TR ; FErm
é- 9iHed : EFEI'SE'-T
3. dageriH : oo
avdiad gt & Ree g wé gafa €7 ol
(D)

e & g ;
i & g off g T

(D) None of the_ pairs
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4 Consider the following pairs:
1. Establishment of standards of weight and measures : Union List

2. Adoption and succession : State List

3. Betting and gambling : Concurrent List

How many of théxfollowing pairs are correct?

(A)  Only one pair (B) Only two pairs
(C) Al three 4k (D) None of the pairs
(E) Question fol attempted

Prffem gt
L WR i am ¥ ot @) e : dogh

2. T ® ot weole T

3. afEmain iR : Tt g

ot g A @ Rt g el 7

(A) FwTs (B) ¥ @ g
(C) H‘lﬁﬂﬁf% (D) T & =g o gy e

(E) srefa wey

88S6EP

88S6EP

174

5 Consider the following statements :
1. Residuarffubjects are the subjects that are not included in the thrc%gsts of the 7 schedule

of the Cohsfitution.
2. Accordinfto Article 248, both the union Parliament and state legi can make laws on

these subjéats.
3. Space tmmoiogy is an example of a residuary subject. @
How many of the statements given above are correct?
(A) Only one statement is correct. (B) Only two statememﬁe correct.

(C) All three statements are correct. (D) None of the statemeps is correct.

(E) Questioutggt attempted 7o)
Prerferfiae e g e g : T
1. orafire frdarias fea &, o whem 2 747 oreeh @ A gRt § whuhiee £
2. e 248 % orere e s ol U R AR € (srafire) A g  ad E
3. mﬂ%,mﬁmmm@wh
forg T Tt Hae ¥ @ Roed Hy wd § 7 -
(A) ﬂmﬁrqmﬁjm&%l (B) %aw & wuw wé € W
(C) et it ey e &1 (D) @ ¥t Fu wh T ey
- (B) e ey n
31D U1 3 = PT.O.
(c1)_. {6 {0
o
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Consider the following statements :

1. i
Privy Ilmrse referred to a specific sum of money that was payab
princely states that signed the Instrument of Accession.

2. .
: '"glf: payment of privy purse was a constitutional obligation before 42"
- g;_abc:lm‘nn of Privy Purse was justified on the ground that it stood against the principle of
. 1tarianism enshrined in the Constitution. |
ow many of the statements given above are correct?

le annually to rulers of former

d Amendment.

Eg; ;T:;?E Siatement 1s correct. (B) Only two statements are correct.
i Statements are correct. (D) None of the statements is correct.

(E) Question not attempted

fFr=fefaa et 9 e Hife ;

1. Rl ol o fafdre oftr =) shefa st ot o Prarast & sl
%) arife g & &4 grar ar =y
SATafe W= 9T T e 4 e = E

2. 423 wfqur et & oew e o a6t e ddenfes arean A
3. it o 9t vt 39 amumt e oftm ﬂ%wmﬁmm%mﬁmm

T o Sudie ol @ oo s af ¥ e

(A) Faw us FuT wh ¥ (B) ¥Faw & wu wer ¥l

(C) wh & wo T &) (D) @ HFuTal I
E) ool v '

. Consider the following statements <) ;

1.  Parliament can legislate on matters enum
pass resolutions requesting the Parliament to enact such laws.

9. A law so enacted will be equally applicable to all the states,
passed such a resolution or not.

3. Such alaw can be amended or repe

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

erated in the State List if two or more state legislatures

irrespective of whether they

aled only by the Parliamenf. : '

Prefaiaa Sy= 91 et i :
1. WW@ﬁmﬂm-gﬂwwwmﬁi.uﬁémmﬂmmﬁm&mﬁwwaﬁ
mﬁ:ﬁuﬁawﬁ%gmﬁﬁmﬂﬁvmmﬁmﬂﬁm%r
ot i fean & @ 7@ |

: ¢ 9 w9 @ A aN, =T S 56 W
a: ﬁm%w@f%ﬁﬁﬂmmﬂmﬁ&mmﬁ?ﬁmﬁﬁmmm%
ﬁqﬂqwﬂﬂamﬂ‘fﬁéﬁmﬁmﬂaﬁ%?

(B) e o wue i e |

(A) ¥aw ©F G qhI 8 1
(C) & & Hu wE E (D) FE o Hu wh T 2

(E) amaitd 957
aEE ©n D P.T.O.

{
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Consider the following statements :

2
3.

The selection of the Vijayanagara site was inspired by the existence of the Virupaksha temple.
Vijayanagara was established near the Pampadevi temple.

*Shri Pampay Namah' inscription has been found on the Vijaynagara coins.
How many of the statements given above are correct?
(A) Only one statement is correct.

(C) Al three statements are correct.
(E)  Question not attempted
Prtfwfas Fee v R Hifr:

1. mmmmmmtm%mm
2. wﬁﬁﬂﬁ?%mmm’tmwmi
3. Toerrr % Rt av o v s st P &

(B) Only two statements are correct.
(D) None of the statements is correct.

R T s wwett ¥ @ Rt s wh ¥ 7

(A) ¥3wus Faw wh ¥ (B) ¥ 2w wht i
(C) =i 9 suw v ¥) (D) =18 o o wét =8 &y
(E) omef@ws

Consider the following pairs :

1. Pratihar King Bhoj :  Gwalior Inscription

2.  Satavahana King Pulumavi : Nasik Inscription

3.  Hun King Toraman : Eran Varaha Inscription

How many of the above pairs are correctly matched?

(A) Only one pair ! (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frfeiaa gt T faart S

1. w7t | - : Teferat aitwera

2. wdETd 79 ggATEr ;i ifherE

3. o e S D QT e St

i g & A et e g ¥ 2

(A) aw uE g™ (B) @@ g™

(C) wh &t g™ (D) ¥ & wr§ ¥ g ol
(E) wai@ v

PT.O.
31 oy D 3
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10 Consider the following pairs :

1. Nuh Sipihr Amir Khusrau
2. Riyazul Insha Mahmud Gawan
3. Burhan-i-Ma'asir Rafiuddin Shirazi

How many of iR above pairs are correctly matched? (W
(B) Only two pairs ¢gy

(A) Onlyo
(C) Al lhreuqajrs
(E) Questiofiifot attempted
Frerfiries 7R frame e -
1. 9 fafex o g
2. faew S.E D WEYE TEt
3. FEE-RER ¢ oede Rt
Sy et F e g wh g&ﬂwﬁr ¥?
(A) Fuwus S
(©) =it %’hﬁ’r@
(E) orgaia v

11 Consider the flfowing pairs: -
1. Basa _I . A
3.  Daswanfih : Jahangir

How many of @& above pairs are correctly matched?

(A) Only one pair

(C) All three pairs

(E) Questign pot attempted
Friferfa g gy freme Sifor -

L = Ut . Tt
2. dnwaler - Y
3. zZmEa W A LIRS
St g & @ Pt g e g 7
(A) Faw g

© =it dritgm

(B) fﬂaﬁﬁa‘ﬁ’%

31 ey D

CAkbagiie e sniieon

o

(D) None of the paird J§

o
o
o
FY
. o
B) FwAgw g
{D} m#aﬁéﬁfmw
s
L
Lo/
A
e
©

(B) Only two pairs
(D) None of the pair&

B8S6E]

(B) FWATT
(D) T & #rd & gralwhy

L8

L5t - i
84 PT.O.

& J
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12 Consider the following statements :
[ } :
- The Indian National Army had fighting brigades in the name of Gandhi, Azad, and Subhash.

j- The slogans of the Indian National Army were *Jai Hind® and *Delhi Chalo.”
- Rash Behari Bose was not associated with the Indian National Army.

How many of the statements given above are correct?
(g) Only one statement is correct, (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted
Frfoies ®uet w3 R $ifm
1. el i & & e, oo ofe gwm & w9 & wifé R &
2. W@ TEE 8 & Wi e R el R e 4

3. faErlt g wid g @ § e @ 8

Remu o sai & & e s ad €2
(A) 99 TH H9= Tel T

(©) w0 d=f Hu gl €

(E) sgahawe

13 Consider the following statements.
1. The election to the office of the President of India is held in accordance with the system of

proportional representation by means of single non-transferable vote.
The value of the vote of each Member of Parliament from Uttar Pradesh is greater than the

(B) %Faw a Hu wEl g
(D) = & wgT udt T ¥

2

value of the vote of the MP from Goa. _
3. Electors cannot use the provision of NOTA in the election of President.
4.  The provisions of Anti-defection law are not applicable in Presidential election.
How many of the statements given above are correct?
(A) 1and2 only | (B) 2 and 3 only
(C) 3and4only (D) 1,2and4 only
(E) Question not attempted
Preferfe HuA 9x faam SIfg : .
15 W%mewmnﬂﬁwﬁmmﬁaﬁmﬁmmh
2 mﬁﬂﬁﬁﬁiﬁmﬁﬁiﬂﬁﬁlﬂﬁfﬁm?ﬁﬂhﬁgﬁﬂﬂﬂiqﬁﬂmﬁﬁﬁm%i
3. mﬁ#gﬂmﬁqﬂmﬁamm&%mmaﬁiﬂqﬁmm%l
4z frdter G 3 ST AR 2 g A e A ¥
fry 7y i e & @ fert e @ ¥ 7
(A) w1 a2 (B) a2 it 3
(C) a3 a4 (D) Faw 1,2 ot 4
(E) orgarea 997

7 P.T.O.
31y D
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ks

(ad
Match List I ‘&1 List 1 ; Te’
List I List II (#
a.  Operatigh*Ganga i.  Ukraine Evacuation Mission 00
b.  Operatigq Cactus ii. Reliefand rescue in Nepal 03
¢.  Operati aitri iti. Neutralizing attempted Coup in Maldives
d.  Operation Kaveri iv.  Sudan Evacuation Mission
e &1 gt 11 9 foverr o B
S8 g 11 (s
a. ot i e P R ]
b.  aifates i, rarer ¥ e ai gara FRAST
c.  SgteN iii, wrerdrE ¥ TeaTTeE ¥ wara Y derat B
d.  sifeter gt iv. §em P frem
Choose the Cgrgect Answer from the options given below
e R g farmedt § & W were @ v @
B) a:i, b:iii, c: ii, d:

(A) a:i, b:iic:iii, d: iv

(C) a:ii, b: E iv, d: iii (D) a:iv, b: iii, c: ii, d*

(E) Questiqppot attempted / srgafta usw - (5

Consider the [‘tguwing statements : ' o

1. Public H¥fprest Litigation is a legal action initiated in a court of % for the enforcement of
publiciwrest. SR 1 HRTE 2

2. PIL has reinforced the principle of locus standi. - Thivay

3.  Both citizens and organizations can filea PIL. ' i~

4. Su Court under Article 32 and High Courts under Articlef226 of the Constitution of
Inmteﬂain Plls. ~ 2 . (e’

How many o statements given above are correct? £r

(A) 1and iy - (B) 2and 3 only 5]

(C) 3and y : (D) 1,3and4only &

(E) Questi ot attempteJ

Frefafaa Rramt i

L. wrfed aifeer, sEfea & s % forg =g 4 fyfvs o &)

2. domen dea ©f % gt 7 vt Fw@ b f’;

3. i@ gy wre dt fendum afae @ g £ {.i?‘&

4. m%ﬁﬁm%m@rﬂ#m%mmﬁaﬁﬂﬁﬁﬁ%mwﬁm

g7 awd @ o)
o 7o Sutaldit ¥ & Reed wum wd £7 &y
(A) aw 1 8 2 (B) a2 3t 3 =
©) waw3 &4 (D) ¥aw 1,3 el 4
(E)  srafg usw
en D g P.T.G
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16  Consider the following pairs :

1. Leader of the revolution in 1857 in Ahirwal (Haryana)

Rao Tularam
2. Leader of the revolution in 1857 in Faridabad (Haryana) :  Dhagu Singh
3. Leader of therevolution in Hansi (Haryana) in 1857 : Imaha}Ali Qalandar
How many of the Eve pairs are correctly matched? (e

(A) Only one paipy

(B) Only two pairs L
(C) All three pai5y

(D) None of the pairs

(E) Question nofRttempted ©
L e (sheamm) ¥ 1857 % w3 ¥ : m@w
2. wleEE (sfuiem) ¥ 1857 % wiftr % Y D o
3. el (efammpy 1857 ¥ wift % e T Bt
SR g H & e w gt ¥ 2
(A) T s gy (B) aw & g™ o
© =g D) T 3 G gm
(BE) orai@ s B
" (F3]
17  Consider the follo statements : 0
1. In 1676, Shiggaji crowned himself formally at Rajgarh. Ui
2. The Kamataigexpedition was the last major expedition of Shivaji. @w

3. In1678, Shi% campaigned against Karnakata and forced Qutb Shah%pay a subsidy of one
lakh huns. {3 i

How many of the statements given above are correct?
(A) Only one statement is correct.

=
(B)  Only two statements ] correct.
(C) All three stdf@ments are correct.

(D) None of the smt&meqﬁs correct.

(E) Quesﬁnnn&@uempted . L
Prefa el ag e s , _ 0o
1. 1676 % fempiterme ¥ sfiv=its &9 § g6 9| ¥ @

2. wiies arvaEppiEmEt g ik g afta an
3. 1678 3 frarh ¥ aitea % Prom st aam ol g e B o v T SRl Tem et 6

fora wrrgy fomam) " L
e T T | P e e B 7 | 0
() e o w1 (B) e & wuv &l ¥\ g
(C) e S o e ¥ (D) ﬁ\é*ﬂmﬂﬁ,ﬂﬁ%tm;
(E) ergafa werll | S
(¥4] -
31 ey D ' g PO
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18 Match List I with List II in reference to Constitution of India :

List I List I1
a.  Article 263 i.  Finance Commission
b.  Article 226 ii.  High Court
c.  Article 239 iii. Inter-state Council
d.  Article 280 iv.  Union Territory
I s & et & et 1ot gt 11 @ Prem i :
LSB T 1l
a.  oTgEdE 263 i, R o
b. BT 226 ii, e =Omawy
c. ogBR239 - i, st gfteg
d. o 280 : iv. %y enfer R
Choose the correct answer from the options given below
e g T ferdedt § & @ v @1 agw v
(A) a:iii, b: ii, ¢: iv, d: i 2 (‘U (B) a:i,b:ii,c:iii, d:iv
(C) a:ii, b:i,c:iil, d: iv . (D) a:iv, b:ii, c:iii, d: i.

(E) Question not attempted / srafta e

19 Match List I with List II : . :
List I ey = List IT

Second Schedule of Indian Consututmnj i. 1 Administration of Scheduled Areas

a
b.  Fifth Schedule of Indian Constitution ii, Comptroller & Auditor General
c.  Nineth Schedule of Indian Constitution * iii.'’ Anti-defection laws
d.  Tenth Schedule of Indian Cnnstltutmn iv. Land Reform Laws
e I &1 gl 11§ e s :
I w

a. W dfrm @ gl e i TR A W
b. s s @ iedi arggd i,  Pris w@ TR

o wrdmdfE A A eged i awee R e
d.  wrcd gheem @ od omgd v, gfrgu e
Choose the correct answer from the options given below :
A R g feremedt & & @) T @ @Ew iR

. (A) a:iii, b: i, c:iv, d: i (B) a:i, b:ii, e iii, d: iv
(C) a:ii, b: i, c: iv, d: iii (D) a:iv, b:iii, c:ii, d: i
(E)  Question not attempted / GRS

31 1) D 10 ! PT
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20  Consider the follcw% statements :
1 g}\:ihﬁai;bm& gh, the 10th guru of the Sikhs composed his verse%ainiy in Hindi (Braj
2 Ty B e ity Ditrion,
. ained the famous nationalist song ‘Vande Mataram.’
How many of the stdtements given above are correct? oS
S e ., 4 rm————
i ——— mpted - (D) None of the statemenms correct.
Frefofe wu=t o it 0
1. ol & 103 175, 76 N Ris ¥ o o2 gor &0 @ &S (ﬁm}ﬁﬁ%’
2. rerdv wres, dey frsara fre m an
T30 ok e A sREar i d weey st d) S
ey g v et W e e e 7 W
(&) e 7 o L ¥ ®) Fwdwmdt o
(C) o dFf &= 53l ¥ o % et (D) ﬁ%ﬁ’tmaﬁﬂﬁ%m
(B) SgaRavs gn 0
21 Consider the following statements : '
" 1. James Mill s highly critical of Indian religiop and culture. 4
2. William Benfigick announced in 1835, that Persian was abolished adffie court language and
" was substitutgdhby English. & O
3.  Wood’s Despiaigh led to the establishment of university at Calcutta, B@mbay and Delhi.
How many of the mments given above are correct? | a0
(A) Only one staf@ent is correct. ' (B) Onlytwo statementstee correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted S
P et e R i _ W
1 e e e o st % R oy s © |
2. 18357 fufe T A %m#.&wﬁmﬂwﬁﬁﬂwﬁmmm :
Rl o ' o @
s e, vy e PraRrerrdt i e g feete & e g€ Q0
fom T g Hel # & R wUA Wy
(A) et e B C(B) @ wu w8 EL
©) whEH TR @ B dwm e
(B) erafta wed
31 ey D 1 L

§
-
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31 lC:j__D

Consider the following pairs :

1. Mulfuzat Conversations of Sufi Saints
2. Maktubat : Recollection of biographies of Sufi saints
3. Tazkiras : Compilation of written letters

How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frafafes gt o1 fera #iftne:
. gEgsma @ g Eal B e
2. W gEW| @ gorgar & el & e
3. wwsu : fo@ gu s e dee
SYE g @ Rhw g vl gl €
(A) F=wTs gw : (B) % @t g™
(©) it it gm 0 (D) T & wrd o g
(E) wrgaia ue
Consider the following pairs : -
I. Darul-Adal  : Place of Justice
2 °* Balahar : " "Low class agricuitural labourer
3. Malikut-Tjjar :  Chiefoftraders . '
How many of the ah;uve- pairs are correctly matched? ,
(A) Only one pair : (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
Pretferfad gt ww firame 2
L eRSw-sma : Ogwws
2. aER : ﬁ!ﬁ?'ﬁﬂﬁﬁr@ﬁ'qﬁg
3. APE-TWR i @ e
Eﬁﬂaﬁgﬁﬂ‘ﬁﬁﬁ%maﬁg&m%?
2; :?a:;: B) g
(D) w7 & = ot g v

(E)  srqafa wem

- . PT@
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24 Consider the following statements :

L. |
; 'Lhe writ, Mandamus can be issued against both Public Authorities and Prwate Ind:wduals
: andamus can be issued to enforce a contractual obligation,

3. Mandamus cannot be issued against the Governor of a State,

4. Mandamus can be issued against a state to refund the tax collected uniawﬁﬂ]}r
How many of the statements given above are correct? .

(A) Only one statement : (B) Two statements

© Threﬂ.statements (D) All four statements

(E) Question not attempted .

Preferfe wui o R i

1. afea, mmmmmmmwtmwﬂﬁmmt.
2. hﬂmmﬁmmﬁ%mm%mmmtr

3. %R & R Ao ol @ R o w3

4. dewm, o v A O R T ) AeE w3 fir T 3 Pre il Rear s g 2|
g T St Fusl & & Rt mam R ¥ 7

(A) 9w % Hu  (B) e g He |
©) Fmwmdmwm oo, (D) wt O wa

e ok NS e

25 Consider the following statements ; ih

1.  Inorder to form a new state in the Indian Union, the Parh&ment can amend the provisions of
the Constitution with a Simple Majority. 3

2. To amend the provisions of Dlrccnve Pnnmpl-:s c-f State Pc-hi:}r, the Parhamr:nt requires a :

~ Special Majority.

3. _To amend Article 368 of the Constitutlt}n, the Par]lament rcqmrcs Spemal Ma]unty along
with the consent of half of the state legislaturcs e 3

How many of the statements given above are correct?

(A) Only one statement is correct. . (B) Only two statements are mrrect

(C) I All three statements are correct.. ., | . (D) None of the statements is correct. .

(E) Question not attempted e ' . ; -

1. qﬂﬁﬂwﬁwﬁmwmﬁﬂsmw Wugﬂaﬁsmuqﬁ:mﬁimﬁ HIe FT aHA
%

2 Tm'—?ri%r%ﬁ%mﬁ@ﬁﬂsmﬁﬁﬁﬁmﬁﬁhmﬁﬁmwﬁmmﬁatl
3. Hﬁztnﬁaﬁagﬁiaﬁﬂﬁﬂaﬁmﬁﬁ%mmﬁmwﬁﬁmﬁﬁm#mﬁﬁm

TEHT I HTAYAHAT B € |  ji %
fiw o SR Sy ¥ § Read T EE ¥ ? - b doug 1.
(A) e U% Bu T8l & | IR %ﬂﬁ_‘%ﬁﬂﬂﬁﬁlﬁlr
(C) =it i e wé &) (D) ' =E o mer @ Tl ¥
(E) ergafta wea i
3lwen D - 13 (i P T.O:
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26  Consider the fuﬁﬁ%ﬁng statements regarding the Global Survey on Dlgualdrild Sustainable Trade
Facilitation: 0 60

1. It was reléhfpd by the World Trade Organisation. 1
2. The overallgcore of India has been greater than many developed coufiifties.
3. Itis a bi-agnual survey that deals with trade facilitation measures taken collectively by the

WTO meniber countries.

E%w I'iﬁ;l:]}i' of the statement given above are correct: i
y B) 2onl .
(C) Alll, 2 and8 (5) None L)
(E) Question f{gattempted ‘O
ﬁﬁmaﬁwﬁﬁ@#mmﬂW@ﬁﬁﬂﬂmﬁﬁﬁrﬁmmﬁﬂmm:
1. zafasw e g wmd fevar mar an ' (99)
T Rt D
3. =® WTO % waeg 29if a1 wrifes & ¥ e e =gmamr ' |
e g Ut FEAPY & R we wd ¥ 7
(A) F=wl (B) a2
©) 1,28 3wR _ (D) TRazgw  dn(E) AR
27 Consider the fqllowing statements regarding the Corporate Debt Market Development Fund

(CDMDF) : O
1. Ttwillbe lished as an Alternative Investment Fund.
2. Contributithto the fund shall be mandatory for specified debt-oriented Mutual Fund Schemes

and Asset Management Companies. H

d can be extended as peESEBI’s mandate.

3 Initially, ityll be established for 5 years an

How many of ﬂﬁmtmams given above are correct?
(A) 1only (B) 2only
(C) Alll,2and3 (D) None

Question not attempted £
. mﬂ.ﬁmmmﬁwm%:

(E)

FBIINE 3= ATHE, %s (CD _

1. =& fraer fiftr % w7 & @ s |

2 Pt e 5 e o 1Rz Aot et & v ey 4 e abrad g

4 m‘wﬁ,gé@mqrﬁﬁ%%ﬁﬁﬁ@ﬁ@?ﬂﬁ(ﬁEBl)%mmﬂEﬂmmmh

fo T wude B ¥ & Read FuT ae €7 -

A) Fal @B (B)  %dw 2 &5

©) 1,23k 3N (D) T & B T (B) el ue
he Foreign Portfolio Investment (FPI) in India:

28 Consider the following statements regarding t
1. It has fluctuated drastically in the past decade.

5. In2022-23, the net FPI in India was less than 1% of the GDP. {4
e Management Act, 1999 is the primary lcgislation";\ggveming FPI in India.

3. Foreign

How many of tig btatements given above are correct? ° S
(A) Only]l Te) (B) Only2 iy
(C) All Three ' (D) None &
(E) Question ot attempted oy
qTd § WA Tz (FPI) § wefiyq fraffaa st ot R @ifag:

1. zod e G ¥ sede w9 @ Sar-gerd gan ¥ |

2. 2022-23 ¥, urta & g wwdiend, gy & 1% § & 41l
3. Wi gwEE Fede uee, 1999 Hre § uwdiens @ Frifa e e sl e E

fre o Tudie FuAl B ° fee wum wd €7
(B) e 2

(A) e 1
© widr (D) ¥ ¥ T T (B)  srgafa 7o
3ley D 14 P.T.O.
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3. Chennai is one of the old

Consider the fo]l-:wuing statements :

;- Kandla port also known as Sardar Patel Port is a tidal port.
- Marmagao port s for the premier Iron ore export,

est artificial ports of the country,

€s in the export of Mica in the country.
given above are correct?

(B) 2and 3 only
(D) 2,3 and 4 only

4, ParadWip port specializ
How many of the statements
(A) 1and3 only
(C) 3and4 only
(E) Question not attempted

ﬁ%ﬁamﬂ%wﬁmaﬁﬁw

k. ﬁmﬁi,wmﬁé%mﬁﬁmm%.%qmwrﬁumil
2 mﬁmmmmmﬁuﬁ%h%l
3.

A 29 GO P T § 4w #
4. AN T 297 A ¥ Pt ¥ R s 3
RS R S ——
(A) ¥ a3 (B) e 2 it 3
(C) ¥aw3sicd forf (D) %aw 2,3 aft 4
(E) srgafa v

Consider the following statements relating to our Solar System :
1.  Saptarishi forms part of mnstel_latinﬁ Big Bear.
2.  Saptarishi forms part of the constellation Ursa Major. .
3. Asteroids Belt lies between orbits of Mars and Earth,
4.  The largest asteroid is Ceres, . ;
How many of the statements giver above are correct?
(A) 1 and2 only ort (B) 2and3only
(C) 3and4only. _ (D) 1,2and 4 only
(E) Question not attempted ' :
TR e s & wferr Preran Tt ¢ R g
1.  wamty far gy arogvess o fen s9man &)
2. WY STET AW ARMUSH 1 frwm o B
3. gEuE 95 HE ST gedt i Fanstt & wen faa ¥
4. wad 731 g fat (Cere) ¥
fé T S FaEl @ Rea wew i £ 7

(A) Faw 1 afc2 (), "SR

(C) w3 o4 @y “dewdjpstea

(E)  sgafaus I 5
o 5 | P.T.0.
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31  Match List I with ListII :
ListI List IT
a.  Mountain Breeze i. . Sahara Desert
b.  @hinook ii. Katabatic
¢ imoom iii. Snow Eater
d. cCo iv.  Asiatic and African Dgsert
Chooggythe correct answer from the options given below : {2
(A) gwidi,b-ii,c-iv,d-i (B) a-iib-iii,c-ivd-i QO
(C) i,b-i,c-ii,d-iv (D) a-iv,b-ic-iiid-ii  (J7
(E) Question not attempted o
et [ &7 e gt 11 & #ifg 5 4
S T I
a. {hwiR i, weR o
b. R (7o) i, HeRfw >
c. Rim i, L)
d. % iv. ufimr afc aiflse Wﬁ
A2 el R 3 & 1 3 e i A
(A) a-iii,b-ii,c-iv,d-i ®) adibdiicivdi o
(C) - a-iii,b-i,c-i,d-1v ' = (D) a—iv,h-i,g-iii,d-ii
(E) "hi_l.?li?ﬂ EEa
W
32  Match@ist I with List I W s - =
tl List IT m
a mgcl Falls : ] Venezuela \D
b. &Bsemite Falls 1955 California | Ui
c. Niagra Falls iii. ~ South Africa &
d.  Victoria Falls iv. USAandCanada &0
Chooge,the correct answer from the options given below: i
(A) fad. b-ii, c-iv, d-ii1 (B) a-ii, b-i, e-iii, d-nr
(©) iggiil, b-iv, c-ii, d-i (D) a-iv, b-iii, c-i, d-ii ™
(E) stion not attempted %)
el 1 e gt 11 & iferg e
o 1 I 3
a. Oud 99 i, aveEE 0h
b. arfE U ii.  fermiE o0
c. iii, afar orfem
d. {FFETE g iv, gUET ST FHAET
ﬁﬁmﬁaﬂﬂﬁﬂﬁﬁ?ﬁﬂﬁﬁ%ﬁq: iﬁ
(A) f@Fi, b-ii, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv ¢4
(C) @iii, b-iv, c-ii, d-i (D) a-iv, b-iii, c-i, d-ii L&}
(E) Grgafta we (51
g .
31 ©y_D 16 00 P

=

|
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33 Consider the followi : i g ,
Exported P mductzTﬁlfD%tgﬁents regarding the Scheme for Remission of Duties and Taxes on
1. It provides a mechanism for exemption of taxes,

: duties, and levi
2. The scheme is WTO-compatible and is being im PG o i

Eﬁf )w Ii]ﬂnnly i o sl mmﬂ?plcmented in an end-to-end IT environment.
on'y (B) 2 only
(C) Both1and? (D) None
%‘Egh Question not ;iemn;lgted
U TT [ o % e %t AT 2 s ¥ Prerfltad o 1t R :
. % m%@w?ﬁw?}h%ﬁ%ﬁ?hqﬁmm%: i
ﬁqmmﬁwﬁamﬁmﬁm@?ﬁ R i b
(A) w1 : (B) a2
(C) 123 (D) &7 & o 7
(E)  omaf@ v ; :

: i : =
34  Consider the following statements regarding Prompt Corrective Action (PCA) Framework:
1. glérlgh;:n}iy PCA supervisory norms are applicable to both Government and non-Government
. ,
2  Discretionary actions under PCA include Restriction on Branch Expansion
How many of the statements given above are correct?

(A) 1only -, (B) Z2only
(C) Bothland2 A (D) None

] (E) Question not attempted .
mﬁmWﬂGCA}&mﬁ_éﬁmmmﬂﬁmm:

) 1. = # PCA vl g el 3 f—awertl NBFC 2t ut amy 2 £
2 PCA% oo faderd sl & wia & farart vt wfyds whafia 31

| faw o St wuAl F @ fea wem EdtEY o -
(A) w1 : et e 01 (BY,, W2

)-' (C) 1 3z 23 N B E (D), T A B

1 ® oghosm - -

= I T e (e Loy

) | 35 Consider the following statements regarding the Fugitive Economic Offenders Act:

] 1.  AFugitive Economic Offender (FEO) is a person who has fled the country and against whom
an arrest warrant has been issued for involvement in economic offenses involving at least
Rs. 100 crores. .

2. Under the Act, authorities are empowered to confiscate assets even when no conviction has
been obtained. v - '

‘3. Financial Intelligence Unit is the nodal agency to implement the Act.

How many of the statements given above are correct? . :

(A) 1and2 only " (B) 2Zand3only

(C) 1and 3 only (D) All1,2and 3

(E) Question not attempted . ,

SIS cifhed ey & defie Prefifag su ot e Sifn - _
1. wyffea g sitet (FEO) a8 @fir 2l &, 31 & & 9 5. 100 95T % o o 3 anfie
#en ¥, a1 wreaT Wi o § ot foves fawmn ertee avte Al e E
2. W%w.mﬂmﬁﬂﬂm'mﬁﬁﬁﬂtﬁmwwﬁﬂﬁaﬁﬂh
3, et Lfitw g afufam S ang e g e oeE '

ﬁmmﬁﬂﬁﬁﬁﬁﬁﬁﬁﬂﬁ%?
(A) aw 1 ol 2  (B) w263
(C) w19 3 (D) 1,283 w0
(E) omufa wea A
31 en D 17 CPRO.F
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31 ey D ' 18

Which of the following features are associated with Regur Soils in India?

L. Itdevelops on crystalline igneous rocks as a result of intense leaching.

2. Itisrich in Iron, Potash and Phosphoric contents.

3. Itis typically found in north-west region of Deccan plateau and made up of lava flows.

‘4. Itisrich in calcium carbonate, magnesium, potash and lime.

How many of the statements given above are correct?

(A) 1and2 only ; (B) 2 and 3 only

(C) 3 and4only (D) 1,2 and 4 only

(E) Question not attempted

Frefeiae & & S Rastwar wice % Ym0 g1 @ g & 7

. =% o s & afoms e Bredr sy gt o1 Rt e &)

2. 3 T, e ol wienRE an & v gl

3. UF YU ¥ T WBR & Ik & F grdt st ¥ ol 9w wrenvans @ Riffa S d
4. 3o Sivwgw s, difirgw, drera ol g ST A ¥ arar s .
R o sutien sl A e mum wd ¥ '

(A) Faw a2 L, B FEW2eix3

(C) ¥aw3 a4 =3 o {D} %m: 28l 4

Which of the following characteristics is associated with red aﬁd yellow soils in India?
1. It develops on crystalline _igﬁebus rocks in area of heavy rainfall.
2. It develops a reddish colour due to diffusion of iron in crystalline and metamorphic rocks.

3. It develops yellow colour in hydmted forms.
4. It develops red and }relluw colour due to iron and Sulphur in dry cund.ltmns

How many of the statements given above are correct:
(A) 1and2only (B) 2and 3 only
(C) 3and4only (D) 1,2 and 4 only
(E) Question not attempted

Prefafaa & @& BF—dr fidhward sa § are ai 9ol g2 @ wefg & 2

1. e afty auf o &6 ¥ e sy gz O et o )

2. =% e ol sriafta gzml # omat & Rewgs & oo we o @ 8 ey 3
3. UrERsswH AT A AR

4. % g Rafr & emaw ot aewt & wrew @ ot W T & A ¥
T g Tudem et & & fra wum gd B 7

(A) Ham 1afr2 (B) e 2 ot 3
(C) aw 3 afr 4 (D) e 1,2 aft 4
(E)  srqafa g

P.T.O.
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38 ' Match List I with List 1 -

List I s
. e i l];mt -I|l
b. Pampas’ i o
° Cﬁmpass 1.  South—-Africa
: : p-n iii. North-America
d. Prairie

iv.  South-America
Choose the correct answer from the options given below:

(A) a-ii, b-i, c-iv, d-iii (B) a-iii, b-iv, c-i, d-ii

(©) a-iv, h_—n, c-iii, d-i (D) a-ii, b-iv, c-i, d-iii
(E) Question not attempted
T I o Pem g T iR A
LSR Tl
a. v i. EINI
b. &g il afor-eem
c. @ iii,  SEC—aml
d. . 99d ' Civ.  gfrr-arie
=’i‘r& faw 1o famedt & & v wuy @ wgw S
(A) a-ii, b, c-1v, d-iii (B) a-iii, b-iv, c-i, d-ii
(C) a-iv, beii, c-iii, d-i - . (D) a-ii, b-iv, c-i, d-jii
(E) srgafta ge
39 Consider the following statements :
Statement-1 : The Jet Streams are the strong cores of upper-level westerly winds which follow

a meandering path.
Statement-Il : =~ The term ‘jet stream’ was first apphed to high velocity upper-levﬂl winds during
World War-IL. .

How many of the statements given above are curre&:t?

(A) Statement-I and Statement-II both are correct.

(B) Statement-I is correct but Statement-II is incorrect. .

(C) Statement-] is incorrect but.Statement-II is correct.

(D) Statement-I and Statement-1I both are incorrect.

(E) Question not attempted

Frr=ffiaa wamr gt faam S

Ho-l: Sz W Sl Wi Tee gl & worgd S e E, ﬁﬁﬁﬁﬁﬂummﬁﬁmmil

w1 ‘e &' amaﬁﬁ%g&—ﬂ%imﬁﬁwﬂ%mﬂﬁfmw@ﬁifﬁqw&ﬁmmﬁww
a1

fo Tu autien wael & @ fea weT wH ¥ 7

(A) g | e wye 11 91 |81 &1

(B) =uw | wér ¥ aifte wue 11 e 21

(C) wo | e & afte waw Haf1 &)

(D) @y 1 ofrT aer 11 21 e €|

(E)  wrafa e
349D 19 - PTO.
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40  Consider the following statement : There is renewed thrust on production of Millet Crops. Which

of the following statement(s) is/are attributable to Ragi Crop?
1. Ragi is rain-fed crop and mostly grows well in black soil.
Ragi grows well on red, black, sandy, loamy and shallow black soil.

2,
3. Itiscrop of dry regions and rich in iron, calcium and roughage.
4.  Kamataka, Tamil Nadu, Jharkhand, Rajasthan and Arunachal Pradesh are major ragi producing

states.

How many of the statements given above are correct?
(B) 2and 3 only

(A) 1 and 3 only

(C) 2.3 and 4 only (D) 1,3 and 4 only

(E) Question not attempted

Prefirfas @ Tt Rrare AR : Ridte Saw % swre T st Wi Rt a8
Freffa & & F9-878 HyF 0 Bad § geEhm R 7

1. <l ot smenRe woe & oft ciftramat el gar A ored & Faeh ¥

2. wﬁm.waﬁ,ﬁﬂﬁ.gmﬁaﬁrwr—ﬁmﬁwﬁmﬁﬂaﬁh

3. wwﬂaaﬁ'm%aﬂtm,wmmm{ﬁm%wﬁ%i _
4. =i, A, ST, T i ST et T S & wgE T ¥

frw g S HeAl & | Rea sUA WO 7
(B) ¥a@ 233

(A) g ] T 3 g o3 e (8
(C) Fae2, 334 : (D) ﬂrfml,iiaﬁra#
(E) oigafd 9ed

41 MatchListIwith'ListIl: , - w0 .
List I ' - List IT

a.  Endangered Species . sl i+ Desertsheep and hornbill
b.  Vulnerable Species ii. B.Iue Shqsep
c Rare Species .- i, Lion Tailed Macaque
d- Extinct Species “wovive Pink headed duck

] -( answer from the options given below: " TR
Choose the correc | (®B) a-iil, b, iy iyl

‘A)  a-iii, b-i, c-iv, d-ii . i, c-i, d-iv
EC; a-ii, b-1, c-iv, d-iii (D) a-iv, b-iil, -1, d-ii
(E) Question not attempted

gdr L a1 forerr gt 11 g sifere
2 i ilr:ﬁﬂ Wz iy B

' : i 1
: ferggeemar: FoTct . T

' gers Wt iii, g &t b
; g yofe iv, 7@ T EIGIE: GLE]
3t forg g P F @ @) wE @ 99T Y .
(A) a-iii b-i, c-iv, d-ii (B) a-}[[? h-,l_i,’ (;-1.‘ ..l:||:r
1. (D) a-iv, b-1i, -1, d-ii

(C) a-ii, b-1, c-iv, d-iii
(E) orgaftd v

3l en D

20 P.T.0.
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42 Consider the following statements regarding Periodic Labour Force Survey (PLFS) Report;
Statement-I Current Weekly Status (CWS) in urban areas is measured at the interval of three months.

Statement-II Present Labour Force participation rate (LFPR) and Unemployment rate is in declining
trend when compared with its base year 2017-18,

Which of the statements given above is/are correct?
(A) Statement I is correct only (B) Statement II is correct only

(C) Both Statement I and II are correct (D) Neither Statement I nor II is correct
(E) Question not attempted

- ﬁrﬁﬁ%mﬁmqﬁﬁaﬁ(ﬁﬁ)ﬁﬁamﬁmﬂaamﬂhmm:
FF-l: el Al ¥ wie R wew (CWS) @ wéR % sfaorer e A smar 1

Fu-11 : a‘é’ﬂﬁﬁﬂﬂﬁﬁmﬁfﬁﬁmm(LFPR}Gﬁ?iﬂﬁ?ﬂﬁﬂﬂﬁﬁﬂfﬂ#ﬂm{ﬂﬁzm?-lzéw
@ Wt ¥, o e Pz @ vem R dd

i e S wee & ® B W e wd B

(A) Faw wu7 [ & (B) e wu 11 & &)

(C) =g 1o 11 39 wdl ) (D) =dtwaa ] d s Il wdr g
() orgala wss e

43  Consider the following statements regarding recently released Reserve Bank of India regarding
Treatment of Wilful Defaulters and Large Defaulters Directions, 2023 :

1.  The directions are applicable to all regulated entities including NABARD, SIDBI and EXIM
Bank.

2. Awilful default borrower needs to be reviewed and finalised within six months of an account
being classified as a non-performing asset (NPA).
3.  Lender cannot proceed against guarantor without exhausting the remedies against principal

debtor. . ; b |-
How many of the statements g'i{reﬁ'aﬁi}ﬁfé Iare'mnect'? _ :
(A) 1only ... {B) 1and2only
(C) Alll,2and3 . (D) 2and3only

(E) Question not attempted (12

foerge fewived ot wnt Rwived swiaery, 2023 % f@ew & w9y ¥ fwd 4@ &% S0 & alis

Peefrn @ wiifee Pt el o e i |

1. e w4 fafrafin gemeal NABARD, SIDBI #fit EXIM d& wfed o @ &1 -

2. W%ﬁﬁmﬁm@mmaﬁ%ﬁ-@%w*mﬁmﬁ#%ﬂﬁ
¥ dacd o AT (NPA). . .

3. HIET g A 3 fres i s R R e ¥ Rrew vt E B¢ e ¥

R g s s 3 @ Rt e Y 7

(A) Faw 1 : _ (B}IéﬁﬁiaﬁTE
(C) w=r1,2aMt3 (D) w2 8T 3
(E) orgaf@a wew
31 ey D 21 P.T.O.
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45

" Theory of low e
w:t Bﬂ]ﬂ.ﬂm Gm‘.' ) ..'t
Choose the w 2.

(A) 1-a 2—1:.,‘3;;;

arn““
S W‘*M
(O | s

¢ omaider the following statemens
" tenavmational Financial Cory
Aeowhoping Conmiies,
P TR - R nalional
e bedige anad \ewening ¢
A0 fedia Waead Vieaoek
APRPY “1!‘- ey,

: B e of W abvre stateren
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&) Qmsh{ﬁ"n e % | M
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45

Match the following List-I w:th List-II :
LIST-I LIST-II

1 Absolute Advantage a.  Paul Rosenstein Rodan

2 Theory of Big Push b. Adam Smith

3. Theory of low level Equilibrium trap ¢.  Richard R. Nelson

4 Balanced Growth Theory d.  Ragner Nurkse

Choose the correct option :

(A) 1-a,2-b, 3-c, 4-d (B) 1-b, 2-a, 3-d, 4-c

(C) 1-b, 2-a, 3-c, 4-d - (D) 1-d,2-a, 3-c,4-b

(E) Question not attempted .

Freaforfaa gefi-1 %1 get-11 § firem iforg

-1 aR-11

1.  gui@m : a.  ofe TeFeEr e

2. fa g @ feai : b. u=H fimy

3. e w & e o @ faeia c. P ar. e

4. i R R A teE

e farmeg # g ¢

(A) 1-a,2-b, 3-c,4-d . (B) 1-b, 2-a, 3-d, 4-c -

(C) 1-b, 2-a,3-c,4-d" p oot slutis D) o 1-d, 2-a; 3-c,4<b 1110

(E) wgaiaws sl 0, Lir '
Consider the following statements : 20

1.  Gini Index is a graphical mpmsentauon of the dlsmhunun of income or of wealth.
2.  Higher the Gml Index, the greater the degree of income equality.
3.  The value of Gini Index has increased amongst reg1ﬂar workers while it decreased among

casual workers in India as per India Wage Report.

Which of the statement(s) given abnve is/are correct?

(A) 1and?2 2 (B) 2and SRS
(C) 3 only (D) AIIIZandB" B
(E) Question not attempted i s
Prafafas waei gt fram Hifg F L
1, el 22 ama a1 g & Freer &1 O Tithee e

Rrft qEsie Rt sifas B, omd wATar @i i St sifi B

2,
3 mwwamwﬁwmaﬁawmﬂmw%mmm
& dra 7 T2 ¥
ﬁqnqmﬂaamﬁﬁﬁaﬁ?mfﬁﬂﬁ’r%ﬁ?
(A) a2 (B) 2aMT3
(C) &aw3 (D) 1,2 aft3 g
(B) wigafaws
31 ey D 2 pT0.
E
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46  Match List I with List 1 .
List 1 A
a. Shjpki Lﬁkﬁ : List IT
b. Lipu Leke !. Kashmir
c. JelepLa ' I Himachal Pradesh
d Burzil !n. U.tta::akhand
E:;' e .t.]?e correct answer from the options gw:;: bclsnli{lm
a-111, b-ii, ¢-iv, d-i i
(©) aili, beil, o, deiv ] o B8 b it
(E) Question not atte ©) ol b, i, doiv
attempted .
T Tt v e 112 e
iUl |
gl
a. Tareht e i. Hefrt
b, fugsiw i, e e
: mﬂ i, wegs
oy 1v.
A fog g feraedt ¥ | ) s @ g A i
(A) a-iii, b-ii, e-iv, d-i (B) a-ii, b-iii, c-iv, d-i
(C) a-iii, b-ii, c-i, d-iv (D)  a-iii, b-i, ¢-ii, d-iv
(E) orgaita e
47  Match List I with ListII:
List I List
a. Copperand Nickel ' G ' i, sgu;:,I_Aﬁica
b.  Chromite and platmum o= " i, Ontario
c.  Phosphate - - i, Caucasus
d. Limestone : iv. Algeria
Choose the correct answer from the options given beimf
(A)  a-ii, b, c-iv, d-iii ' (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iii,b-i,c-ii,d-iv
(E)  Question not attempted
et 1 %7 v gt 11 @r I :
W e g
a. e o frew e 46 i ot
b. ®mEe ol @fem i e
c.  EERE ; iii, - I
d. AR iv.  aTEnTCEr
et few o fyeredt ® @ wdY TOT @ w4 iﬁﬁﬂt _
(A) a-ii, bi, c-iv, d-iii - 0. (B) a-i, b-i, c-iii, d-iv
(C)  a-iii, b-iv, c-ii, d-i (D) a-iii,b-i,c-ii,d-iv
(E) - ergafta s |
31 ey D 23 P.T.O.
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Consider the following statements in reference to the fertilizers sector in India:

48
1.  Sulphur-coated Urea, also commonly called Neam-coated Urea will help in addressing the
sulphur deficiency of the soil.
2. Fertilizer Flying Squads (FFS) was constituted to provide crop-wise recommendations of
fertilizers for individual farms.
How many of the statements given above are correct?
(A) 1only (B) 2only
(C) Both 1 and 2 only (D) None
(E) Question not attempted
WIRE | Ta@ &9 & wav § Prefifae saei 9 R #ifi
1. W;ﬁ%sq&m Y g St s gftar i wer o ¥, o g qent B FH B g HE F 7w
HT 2|
2. wiéwmEer v @S (FFS) T Tad ofav--aw Al & firg wewart 3d9@ o fasiiier & & frg
T wmam )
g 1o Suted syl H @ feen sum a7
(A) Hael (B) %aw2
©) 132 aFF (D) 37 7 &
(E) orgafia gs7
49  Consider the following statements :
1.  International Financial Corporation is an organ of World Bank to finance private sector in
developing countries.
2.  ICIMOD - International Centre for Integrated Mountain Development is an inter-government
knowledge and learning centre situated in Switzerland.
3.  All India Rural Financial '[ncl_usinn Survey is conducted by Reserve Bank of India (RBI)
every five years. . .
Which of the above statammt{é)_i;fare COMeEt? . et N sirci i ;
(A) 1and2only s H-dob: 14T |(B) 2 and 3anly : :
(C) 1only _ ' (D) All of the above -
(E) Question not attempted Lataiiiatis o
- Frafofies seET 9T e BIFAT :
1. siiegia e s frar a5 71 0 o & i R Rearasiior 241 Froh ar o R s 3 R
o qﬁﬁﬁmﬁ@a‘lﬁ ~ FTTAYE BT it §2Mes ey Jamydz e ds & flag @
ST § af freror &g )
3. ?ﬁﬂﬁuﬁwﬁﬁuﬂﬂ%&ﬁuﬁwawmﬂﬁﬁ% AT IR (smmedans) arer e st
SRR e F F e wd B/
E:j Ei@m (B) e 2 o 3
= _ (D) e wh
ShUlG LED|
3 10131]3

x .
’ P.T.0.
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50 Match List I with List 11 - - Vo
List I © ListII

a. Iron ore Mines i. Balaghat
b.  Copper Mines ii. Amarkantak Plateau
c. Bauxite Mines iii. Gua and Noamundi
d. Mica Mines iv. Nellore
Choose the correct answer from the options given below:
(A) a-iii, b-ii, c-i, d-iv (B) a-ii, b-i, e-iii, d-iv
(C) a-iii, b-i, c-ii, d-iv (D) a-i, b-iii, c-iv, d-ii
(E) Question not attempted
At 1 &1 frem gt 1L & wifg

i | . w11
a. TG 99 B @H i, EwrEE
b. AR T : i, @HTHE®H 9B
c. reuTE B AR iii. 7o o Sy
d. arde & ae v, HeE
Y o o faeedt § R 9O &1 99 ﬂﬁfm{
(A) a-iii, b-ii, c-i, d-iv, , (B) a-ii, b-i, c-ii, d-iv
(C) a-iii, b-i, c-ii, d-iv (D) a-i, b-iii, c-iv, d-ii
(B) orgafta we

51 Consider the following statements:
1.  Copper, Lead, Tin and Bauxite are non-ferrous minerals.
2. Manganese, Iron, Cobalt and Mica are ferrous minerals.
3.  Potash, Marble and Gramte are non- -metallic minerals.
4.  Nickel, Cobalt and Plalmum are pre:muus metals.
How many of the statements given above are correct?
(A) land3 only (B) 1 and4 only
(C) 2and3 only (D) 2,3 and 4 only
(E) Question not attempted '
Preferae et ¢ faEm A s
1. e, g, ot o aeTEe ot G €
2. ﬁﬂﬁﬁ,ﬁhﬁ,aﬁmﬁaﬂtmﬁm@ﬁﬁtl

3. O, e o e et @i €
4, Frw, wawe ol A g oigd €l

&qmmmﬁﬂ%ﬁﬁ%ﬂﬂﬁﬂ%?
(A) w193 | (B) ¥aw 1 ol 4
(©) 3w 2 T 3 . (D) aw 2,334
(E) araftd usd |

31 ey D | 25
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54

Consider the following pairs : :
1 The Vice-President of India : Article 62 of Constitution

2. Election of Vice President : Article 65 of Cﬂnstitl}ﬁﬂfl
3.  Terms of office of President : Article 59 of Constitution

How many of the above pairs are correctly matched? )

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

frrrfam gt ox Ramt g

1. wia & syagehy : @R & sgeds 62

2. YRR &1 gAY : WU & ageE 65

3. TrEaly #1 qeN H : Hfu & srges 59

I g o | foreer gor Wl gAfea & 7

(A) e s g (B) *awm A g=

(©) @it g (D) #EAgu=dl (E) orgafe we

Consider the following pairs : - '

1.  Enlargement of Jurisdiction of the Supreme Court : Article 138A of Constitution of India.

2.  Conferment on the Supreme Court of powers to issue certain writs : Article 139A of
Constitution of India. - _

3.  Civil and judicial authority to act in aid of the Supreme Court : Article 144 A of the Constitution
of India.

How many of the above pairs are correctly matched?

(A) Only one pair’ b 0 (B)  Only two pairs

(C) All three pairs i 1 (D) None of the pairs

(E) Question not attempted : -

fFrferfaa gt 9¢ et #iifmg

1. wdares =g % &t F1 faamn - wrdn dfam o s 138A.

2. W A Bl $8 R 9 H @ a9t T9E S 9y gieae o ees 139A.

3. qdiea Y B Werdal § &1 S & g A ofit sl witrtor « S S o sges

144A. TS
T gl A @ e gE e g g2
| (B) @I g™

(A) %@ 7% g Al
©) @i gm L D) FMgEE (E)  orgefa weT

Consider the following pairs:
1. Dengue : Caused by mosquito and spreads through blood

2 Typhoid : Caused by bacteria and spreads through water
3. Ringworm : Caused by fungus and spreads through worms
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of't el
(E) Question not attempted 5 e
Frefaeaa gt ot Rrart i -

L 7 : %ot 3 ameor 2 & ol et & e @ drere
2 m:m%mﬁm%@?mﬁ%wﬁ%m%l
3. W : % % w7 B ¥ ot et & e B

wﬁaﬁ@q’fﬁ'#ﬁﬁﬁwnﬁ@mﬁ%?

@ T @ e

E) ﬂiﬁﬁﬁﬁg: (D) =7 & g o gy iy
3l ey D ; 2%

P.T.O.
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55  Consider the following statements :

fxﬂaer;:l]i;nbrcakdﬂl own of glucose in cells results in formation of which of the following compounds?
2. Lactic Acid

3.  Carbon dioxide
4. ATP

How many of the statement given above are correct?

(A) 1,2,3and4 . (B) 1and?2 only

(C) 1,2and 3 only : (D) 2and3 only

(E) Question not attempted .

Prafefes Huet vt e Hifng

WS ¥ e % sraradr fraes (GO sepsten) & aftomeerey fret & & @1 9t gaar & 7
2. s o

3. N SReTEES

4, uwHd

IulEd Hal G e wuT adr ¥ 7

(A) 1,2,3 a4 | (B) ae 1 972

(€ ¥Faml,24k3 | (D) e 2 3T 3

(B) igafa ve

56 Consider the following statements:
During Urine f-'::-rmatmn which of the fﬂllﬂwmg substances are selectively reabsorbed from the

initial filtrate?
1.  Glucose

2. -AmigoAcidy. Sh. etia o

3.  Salts e

4.  Water

How many of the statements given above are correct?

(A) 1,2,3and4 - - (B} 3and4an1y

(C) 1,2and 3 only BT el only e

(E) Question not attempted _ i

Frefoftaa ot o fe=m Sifg : '

s Pt 35 e P & & i & v tfes e (ﬁa@:{: 3 ot s g v g o 2
1. T o | o

3. @ o '

4, ww |

TR HoA § @ fhe s e ¥ 7
o E (B) ew 3 a4

(A) 1,2, 30q4
(C) Few 1,233 (D) %4

(E) argmfta 997
32 {C,'|}_'D 2? : P.T.D.
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Consider the following statements: . _
Which of the following plant hormones helps in promoting growth in plants?

1.  Auxins
2.  Gibberellins
3.  Cytokinins

4.  Abscisic Acid
How many of the statements given above are cotrect?

(A) 1,2,3and 4 (B) 1,2and3 only
(C) 1and2only (D) 1 only

(E) Question not attempted

Frfaftas Hust gy feme Hifng

Freforfaa & & Si9—a7 gy ety vey 9 gfs ¥ qex w7

St
Pt

TEerEmEtE

4. Ui ora _

g T S we ¥ e e wd &2
(A) 1,2,3at4 : . (B) wE@ 1,2a3
(C) FHaw1ai2 A (D) e 1

(E) wgafa wsw
Consider the following statements:

Statements-1: The length of the small int
. they eat.

W =

Statement-2: Herbivores needs a longer small intestine to allow the cellulose to be digested.

How many of the statements given above are correct? .
(A) Both Statements are correct, s

(B) Statement 1 is correct but Statement 2 is incorrect.
(C) Statement 1 is incorrect but Statement 2 is correct.
(D) Both statements are incorrect.

(E) Question not attempted

ﬁﬂ%r&qamﬁwrﬁfmaﬁ‘rﬁ‘m:

m—l:aﬁﬁaﬁaﬁﬁﬁmm&ﬁﬁmaﬂmaﬁm%aﬂmwﬁwmﬁ%l

W-Z:amraﬁaﬁﬁ?qﬁa%mﬁﬁ%gﬁﬁ‘rﬁﬁ#ﬁﬁﬁmww@?ﬁ%l
ﬁqﬂqmﬂﬂﬂﬁﬂﬁﬂ‘%ﬁmﬁﬂaﬁﬁ'@l??

(A) =¥ o gy ¥

(B) T 1 WE ¥ AT e 2 e &

O B 1 o & ot e 2 e
M) wﬂ?ffﬁaﬁ

®) o b

28

estine differs in various animals depending on the food
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59  Consider the following statements:
- Statement I: The effect of ant bite can be neutralised by rubbing calamine solution.
Statem.ﬁnt II: Calamine solution contains zinc carbonate which is basic in nature.
In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement-I and Statement-II are correct and Statement-1I is the correct explanation for
Statement-I.
(B) Both Statement-I and Statement-1I are correct but Statement-I1 is not the correct explanation
for Statement-1.
(C) Statement-I is correct but Statement-II is incorrect.
(D) Statement-I is incorrect but Statement-I1 is correct,
(E) Question not attempted
Frr=fafiaa st vt fream it
F [: 91 & &% & I B e faeae @ vreet Prernfya R o g B
Fu 11z Ferwrg Reeraw ¥ fies wmate g & i el st @ g ¥
T YA Bl § @ v, A g g e ¥ @ wd wet @ g dif
(A) Ha=-1 3T How-11 = et & qar FeR-11, Hue-1 50 gl wiem &)
(B) wea-1 oft wam-11 S adt ¥ afeT wam-11, Faa-1 1 98 it 74 ¥
(C) =ua-1adt ¢ e sa=-11 Toa &
(D) =u=-1 7w & wfeT wem-11 adt ¥

(E) it 99

60 Consider the following pairs :
1. Plane mirror : Image of the same size as the object
2.  Concave mirror : Rear view mirror in a vehicle
3.  Convex mirror : Dentist
How many of the above pairs are correctly matched?

(A) Only one pair _ (B) Only two pairs |
(C) All three pairs ' (D) None of the pairs i
(E) Question not attempted

Prp=fftaa gm=i ot fam aifg : -

1. mﬁm:a@(ﬁa}aﬁmm.wmﬂﬁrﬁﬁ
2. rgad gdur : ared ¥ R e (Te-gs) s
3. o guv : 4 fass fr 4

S gt & @ et g wd g ¥ 7 |
(A) aw ow g™ . (B) FEEATH
(C) wiiaddigm (D) yHITERguW (E) o

61 Consider the following pairs : - 313 : i1 _
1.  Quick lime : Manufacture of Cement 2., Slaked lime : Preparation of Soap

3.  Plaster of Paris : Making Toys :

How many of the above pairs are correctly matched? _

(A) Only one pair ' (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

i gt v Rrarc ARG

1, feaaw sfeas : 9 @ Fmf 2. 1 G ¢ WG S

3. Wt Hﬁﬁ : fawiet ﬂﬂgﬂ? '

e g § & R g gART €

' (B) %aw & g™

Eé)} @aﬁ%ﬁ (D) T MgET  (E) i 9

B LO,

3len D 29
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Consider the following pairs: i L

1. Equal Justice and Free Legal Aid : Article 36 of Cn?séltuuqn "

2. Promotion of Cooperative Societies : Article 43B of Constitution e

3. Participation of Workers in Management of Industries : Article 43A of Constitution

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs'
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frfwfaa g vt fram g

1. &9 = ok Pryges sl @eraan : gt & omede 36
2. wEwRl wifEl S ggran 39 ¢ whiae w1 s 438
3. wEr & yeu § aftret @ welard ; wftre o ereds 43A

Sudied gl o § frew g wd gAfma ¥ ?
(A) %aw TH gw (B) % &t g
(€) = g (D) wEMguTd (E) orgafca v
63 Consider the following pairs :
1. Right to adequate means of livelihood : Article 39(a) of Constitution
2. Equal pay for equal work for both men and women : Article 39(e) of Constitution
3. Right to work, education and public assistance : Article 41 of Constitution
How many of the above pairs are correctly matched? .
(A) Only one pair : ~ | ©" (B) ' Only two pairs
(C) All three pairs "=/(D)' None of the pairs
(E) Question not attempted ", )
L sl & vaie Qs & st : @R e sgede 39(a)
2. goul SiR wfewsi Gt & fog w w1 & g e dew « wfam o1 ek 39()
3. &m, T o Aol werar & st : diam @ s 41
S g A e g e g £ o
(A) 9@ uE g (B) | -ehgw & g
(C) =it g - (D) FXAFEAE (B)  agoia v
64  Consider the following pairs : ! '
1. Educational and economic interests of weaker sections : Article 45 of Constitution
2. Educational and economic interest of SCs &STs : Article 46 of the Constitution
3. Organization of agriculture and animal husbandry : Article 47 of the Constitution
How many of the above pairs are correctly matcheds :
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
L Wﬂm?@mqﬁwﬁiﬁ%ﬁ:ﬁﬁﬂﬁmaﬂﬂzai
2. mmm%m%mma%%:wﬂw%
3. P T vy dre -
: TS © WiegeT # sty 47
ST U X & Rt g vl it & 7
(A) %t 7% g (B) w3 g -
§i TAT (B)  orpefta yw
©y_D 30

P.T.C
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65 Consider the following statements : ' ;
1. Alkali is a base that dissolve in water.
2. Ca(OH), is not an example of alkali.
3. Dissolution of a base in water is an exothermic process.
How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted .

L o & gemsiter e & o wea ¥
2. Ca(OH), & %1 IxreT0 & &) .
3. fondlt eimts o o § Yo Oe weadt whear &

o st S H @ e s wR B 7

(A) *aq U wa7 =98 ) - (B) haw 5 e EEE '
(C) =i ol &ee wer € (D) =g i Haw g i ¥
(E) oguita geT

66  Consider the following pairs:
1. Acid left by bee sting of honey bee : HCI
2. . Atmosphere of Venus : H,S0,
3.  Antacid : Methanoic Acid . . _ i
How many of the above pairs are correctly matched?

(A) Only one pair is correct. (B) 'Only two pairs are correct.
(C) All three pairs arecorrect. ' ' ' (D) None of the pairs is correct.
(E) Question not attempted -' )

Prerfirfer et T Ram BTG

. =y & S & Brg1 T o < HO
2. gEEragEed: H80,
3.  U2fys : Adies avw |
Il g A A R g wdr 7 - .
(A) FwewEgHEdE (B) aw A gW W
€) whidwigmad® - - D) g oY g w7l §
(E) orpafa 9o

3liey D 31
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67 Match List I with List 11 :
List I
26th Constitutional Amendment .

List II
Reservation for EWS.

d.
b. 52 Constitutional Amendment ii.  Education as fundamental right
c.  86™M Constitutional Amendment  iii. Abolition of Privy Purse
d. 103" Constitutional Amendment iv. Anti defection law
gl 1 &7 ﬁ?ﬁ 11 9 fymm #ifse
Tl g I
a. 263 gifenta waitus i. 3§ ==Y g % fg e
b.  52ai wifeente diaw ii.  fiven &1 feres siftresre
c.  8oai wifqufes deiaw iii. el o &1 g
d. 1034t wifenfyes deftam iv. awEEa-fd s
Choose the correct answer from the options given below :
e feg T farmedt & ¥ Wl IO &1 997 SR

(B) a:i, b:iii, ¢: ii, d: iv

(A) a:iii, b:ive: i, d: i
. (D) a:iv,b:iii, c: ii, d: 1.

(C) a:ii, b:i,c:iv, d:iii .
(E) Question not attempted / saifta 957

Consider the following pairs:
1. Consolidated Fund of India : Payment from the fund can be made without Parliamentary

appropriation.
2. Contigency Fund of India : Held by Finance Secretary on behalf of the President of India.
3. Public Account of India: Executive requires Parliamentary approval to withdraw money from
this account. _ ot 1
How many of the above pairs are correct? | .
(A) Only one pair * (B) Only two pairs
(C) All three pairs (D) None of the pairs

(E)  Question not attempted

1. e it wifere s ffly @ sy wed fafrite % R R o g 3

2, mm#mﬁmﬁhmﬁ%@ﬁﬁﬂﬁﬂ%ﬁwﬁﬁﬁmmﬁﬁm

2 T 1 % e ¥ @ & iy et 3 forq ol a1 el i 2 srasam s 3

Tm%%ﬁwnﬁgﬁm%?

(©) E;?;g: (B) e gt gy
o (D) & & 9 oy g

tﬁuq_[j
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69 Consider the following statements :

Statement I: Hydrogen is considered as a clean automobile fuel for future,
Statement II: Hydrogen is the most abundant element i in the universe.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both§S ent-I and Statement-11 are correct and Statement-II is the corrget explanation for
Statem . " .
(B) Both St'ﬁgment-l and Statement-II are correct but Statement-II is not the qorrect explanation
for Statérm-,nt-l. tn
(C)  Statement-1 is correct but Statement-11 is incorrect. 0D
(D)  Statement-I is incorrect but Statement-II is correct. 0
(E) Question not attempted
Freffias Huite fram S : - e
ml:t@aﬁﬁﬁw#mmaﬁﬁmﬁm%mﬂmm%r ()
w11 # wgt wn ¥ arn W e o b {o)
ST BT ¥ Ta g, A Ry g Rt ¥ el s mr e ARG U
(A) maw-1 sfggem-11 9t w ¥ qon wa-11, wa-1 @ af whwr | (v
(B) FUA-1 6T H-11 T Wt ¥ oiftet w11, wom- o7 o8t el i 3 OO
(C) =ua-1 w8 ¥ o u=-11 o 3
(D) Fu-Imr & et werw-I1 wdh & B
(E) ﬂaﬁfiﬁ@ 5
0
70 Consider the %uwing pairs : in
1. Ginnin@feparation of cotton fibres from seeds oo
2. Weaving : Making yarn from fibres o
3. Polyester : Melts on catching fire and sticks to the body
How many ofjthe above palrs are r.:orrecti:,r matched?
(A) Onlyohgdpair ' "' ' (B) Onlytwo pairs 53
(C) . All thré€lpairs - (D) None of the pairs
| (E)  Questiddhot attempted E}i
Freafirfiaa gref ok frem i - o 0
| 1. e () - mﬂmmaﬂwm w0
2. g : et ¥ 9 g9
3. et Wmﬁmmtmmwﬁm%
Sl gt & et g g 7 ﬁ;
(A) ¥ wwifn (B) %aw @ gm 0
©) whane® | @) ISR o
E) o . 00
| 3len D 33 @ P.T.O.

G Scanned with OKEN Scanner



71  Consider the following statements: ‘ .y :
Touching a flame is an urgent and dangerous situation and we drag our hands involuntarily. Thig

fast reaction is attributable to which of the following structures of the nervous system?

1. Spinal Cord
o Motor Neuron
3. Brain

4.  Sensory neuron
How many of the statement given above are correct?

(A) 1,2,3and4 (B) 1and 2 only
(C) 1,2and4only (D) 2,3and 4 only

(E) Question not attempted

frraftas waet ax framy i ¢
it sramasas ol waTs Rufy & ot &Y wat e Ut ¥9 ST A9 31 Wi o ¥ 19w afa wfalear

wfar o @t Prafafiag § § g s S HOT S 7
1. 9809y

2. W df S

3. wfas

4. <t ot sy
oo asai g e sam gt €7
(A) 1,2,3384 '
(C) Fawm 1,24

(E) oo ws

72  Consider the following statements :
Which of the following functions is/are influenced by adrenalin?

1. Increase the heart beat

2. More Oxygen supply to muscles.
3.  Increased supply of blood to the digestive system.

4.  Breathing rate declines. Pt gited
How many of the statement given above are correct? .
(A) 1,2,3and4 (B) " 1and 2 only
(C) 1,2and3 only (D) 1 only
(E) Question not attempted ' '
Frforiae weamt 9t ferame #ifee
Frrfeiee & & @1/ @ & dfeafe zr vl eaneR & 2
1. T@ & u=sa & 39 &1 & |
2. i AR 3 feres o it o sl
3. 9T o § T @ g A gfig -
4. HETETOH FA
gﬂqm@iﬁﬂﬁ%ﬁmmﬂﬁﬁ?
L2 3 4 B
(©) %aw 1,23 ED; ﬁ;;:llaﬁ-rz
(E) ergafcr ws=

3lien D j
g 34
P.T.0

(B) Faw 13T 2
(D) FHaw 2, 3 A4
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73  Consider the fol@ing statements regarding diabetes:
1. Itis causew the oversecretion of insulin by pancreas.
2. The glucosglevel increases in the blood.
3. . The patienfifirinates frequently, loses weight and becomes lethargic.
How many of the statements given above are correct?

88G6LV

(A)  Only one statement is correct. (B) Only two statements afe;correct.
(C) All three ments are correct. (D) None of the statementhsik correct.
(E) Question nd{ attempted O

YT & wey A Fe X R Bt ; U

1. e s g Sy % ot e & e B ¥ _ 0

2. N S R 9GO .(33
3. fr o e Ao o ¥, ae B € W ¥ ofin g ot ¥

Tt Hul ¥ ® e s wdr ¥ 2 o . :
(A) %9 TF FHHnEe €| _ (B) ¥aw A wewd ¥
(C) =i it e wé ¥ (D) e AwmmER g
(E) o il y &
on o
74  Consider the fu;%/ing statements : 0
Statement I : Thé blood arteries have thick and rigid walls.
Statement II : Arteries carry oxygen-rich blood from heart to various body organs under high
pressure, R
In the light of tHAbove statements, choose the correct answer from the optigfs given below :
(A) Both Sta t-1 and Staxement-[i are correct and Statement-1I is the &6frect explanation for
Statementifi? {5
(B) Both Stateglﬂntul and Statf:mant-l] are correct but Statement-II is not figcorrect explanation
for Statendeait-I. _ 0

(C) Statementfids correct but Statement-IT is incorrect.
(D) Statement-]I is incorrect but Statement-II is correct.

(E) Question not attempted B
o [ 2! Srart q’lfl 31T BT B § | O

& 11: mﬁmq@m—wmaﬁwmﬁmﬂaﬁ%ﬁﬁwwﬁﬁ 14
SYUE HOAl B QI A Tad gy, Ay g g fremed F o€t ww @ waw ity 0
(A) wu-1 airEea-11 2 wdt & qun wuw-11, Hae-1 & g wlmr ¥

(B) wuw-1 aft wem-11 31 wel & it wem-11, &ae-1 &1 wd wlemte T8 &)

(C) wem-I wé & dftew wum-11 o &1

(D) -1 wrerar & @it wem-11 wé ¥

® ogefaws

31 {1:1:._-]:} ' 35 “PT.O.
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75  Take few drops of onion juice, dilute vanilla essence and clove oil in three different test tubes ang

76

consider the following statements: .
1. The characteristic smell of onion vanishes upon addition of NaOH, however 1t persists with

HCI.
2.  The characteristic smell of vanilla is lost upon addition of HCI, however it persists with

NaOH.
3. The characteristic smell of clove oil is lost upon addition of NaOH in it.

How many of the statements given above are correct?
(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted
T ST ST G ¥ AT & @ W FO Y, vaen A odg oK i O @) ot Prerfifae B

u feramt #ifg
1. NaOH e vt @ @t fafdre o g & s &, wwifs g8 HC % @ o et 31

2. HClﬁm%w%ﬁmﬁﬁﬁmwwﬁm%mﬁﬁugNaDHﬁsmﬁmi‘r’h
3. ﬁfﬂﬁiﬁﬁ#NaﬂHﬁﬁﬁwsﬂaﬁﬁfmwmﬁmﬁtl

fow o Sutie wuHl § @ et o Ed ¥ 7

(A) ¥ew va waw wh ¥ (B) e 3w vl ¥1
(C) =h &= waw wdi &1 s b b ) aﬁgﬁmaﬁwﬁtn
{E} FFARA 9T ot e T 1]

Conmder the following statements: '~~~ 11l o0

1. When pH of rain water lies in the range of 6 to'7, it'is called acid rain.
2. Tooth enamel starts to corrode when pH of mouth is greater than 7.

3. Under acidic conditions farmers would treat thé soil with quick lime.

How many of the statements given above are correct?

(A) Only one statement A (B} Gnlytwn statements

(C) All three statements (D) None of the statements

(E) Question not attempted b

Prefrfia et o foere ifome - | |

I ot of 51 &1 pH 6 & 7 % &g g1 2, &) 38 svira aat wer s

2. HE® pH 73 siftes 17w il % A (Gxeh) @1 & 81 wer &

3. mﬁm%ﬁﬁﬁ%ﬁﬁﬁ%ﬁwm%%ﬁ%%l

ﬁqﬂ‘!mﬁuﬁﬁﬁﬁlﬁ%ﬂiﬂﬂﬂﬁ%?

(A) et a5 o iy & (B) ¥ @ el & i

(©) ool §it e wdy ¥ D :

(E)  srgefia wem = aﬁgﬁquﬁ%'- ‘
31en D 36
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77  Consider the following Statements relating to Pradhan Mantn Jan Dhan Yojna (PMIDY). It is
intended to -

1.  Provide access to ﬁnanmal and social services at an aﬂ'urdable cost,
2. Use of technology to lower cost and wider reach.

3. Opening of basic saving bank deposit account in camp mode with minimum balance of
Rs. 500 and zero charges.

4.  Issuance of Indigenous Debit Card.

How many of the statements given above are correct?

(A) 1and3only (B) 1 and4 only

(C) 2and4only (D) 1,2,3and 4

(E) Question not attempted
Wmmﬁmwmmﬂﬁﬁémﬁwﬁfﬁﬁmﬂwﬁwﬁm:

L. 5w wivy faeir of wmafves danell @t aeia v ot wam won &

2. v e ae o g v o wdn e

3. %yHE ¥ ghoq &9 . Sﬂﬂaﬁtquﬁ&mﬁa&awm@ml
4. e 3y H W wmem

T g S waE A & Bees s Al 7

(A) Fam a3 (B) %=w 1 i 4
(C) a2 a4 - - (D) 1,2,334
(E) sigafawsa

78 Considered the following statements: .
' 1. Samudra Gupta's "Vyagrashaili' postures reveal his conquest of the West.
2. The coins of the Ashoka era give us information about his ' governance system'.
3. Onone of the seals of Satavahana King Shatakarni, a picture of a 'ship' is engraved, which is
- a symbol of his victory over the sea. )
4.  Information about Ashvamedha Yagya is found in the coins of Kumargupta's 'Ashvamedha

style'.
How many of the statements given above are currect‘?
(A) 1and2only . a (B) 2and 3-only
(C) 3 and4 only (D) 1,2 and 4 only
(E) Question not attempted
Preffiaa o T R AR

L o 1 ‘e gael ¥ see afvedr frsrr &1 g aew ¥

2. o9 g % Tyani & I@e omEd wmhy & e o g

3. WIETET T Bl At U AT 9T e o e vl ¥, 9 9w wyg e a1 vl ¥
4. FEICID B ‘evany Sl & Rl & sty gu @ e e ¥

fow o wute wel F @ Beew maT EEI £ 7
(A) Faw 1 eft2 ' (B) awm 23T 3
(C) Haw3afcd (D) %aw 1,234
(E)  orgafta wew . -_;
31 en_D . 37 P.T.O.
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79 Consider the following statchfénts : L
1. The Puranas call the S&ahanas ‘Andhrabhritya’ and ‘Andhrajatya’.

2. The history of Satvahgnas is especially found in Vishnu and Bhagwat P
3. Names of more than a hundred kings of Satvahanas are found in the Puranas.
How many of the statements given above are correct?

StV

(A) Only one statement is gQsrect. (B) Only two statements m corréet.
(C) All three statements arggorrect. (D) None of the statements 1S cﬂ%f
(E) Question not attempted J1 L7
Preffan et ox R _ @0
L gUom & awraest @) ‘s’ aur ‘orivee’ wed o

2. o & shver fs o smree g § Rrde w9 & Prewr B

3. g ¥ wraaret & s IR ot F R ¥ i
ﬁqwmm&%ww%’? Lal
(A) Fa0UF waT aE E) U'I (B) ¥aw 3 By @ ¥ o
(C) u+ & wam w8 &) 58 . (D) #E 9 waT w2 ol

| (56

(E) wrgaita weT Q0 &0

80 Consider the following statements :

1. Kabir Granthawali is related to Dadupnntlnes af Ra_]asthan =N
(%)

2.  Meera's teacher Rmdawas a weaver. i % sae

3. Malik Mohammad Jayasj promoted the estabhshment uf prayer halls like Nﬁghar.
How many of the statement{§iven above are correct?

(A) Only one statement is @rrect. (B) . Only two statements are corgt.
(C) All three statements are correct, (D) None of the statements is correct.
(E)  Question not attempte

P e w e o o
1. Eﬁrumﬁrmwzﬁuﬁxaﬁ%a@q&m’rﬁ%i W
2 AOF 1% TerTeT &5’“ E’i}
3. %WM%%%ﬁmdﬂmaﬁmaﬁmﬁw 0
R0 e e et & e wuw wdr 3 7 oo

(A) W%Wﬁﬁrh (B) et 2t e wdy

) it et ey 4 |
® oo (D) 3 *h T wdy iy 3,

31 :G”_D
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81 Mat{_;h List T with List 11:

List I ' List IT
a.  Nishad ;
b.  Charmakar ' 1 e
1.  Mehtar .
¢ Mchhusaro i, Kaiwart
d.  Pukkus or Paulkus tvi, Ankhetak
T Lt P et 1T @ s
T T
a. fmr .  wrET
b.  wfar i, e
c. BT i, e
d. gy @ gy T v, ol
Choose the correct answer from the options given below:
%ﬁqmﬁ:ﬁq‘ﬁﬁnﬁwwwmt{:
(A) a-ii, brii, c-iv, d-i (B) a-iv, b-i, c-iii, d-ii
(C)  a-i, beiii, e+, d-iv. =~ (D)  a-i, b-iv, c-iii, d-ii
(E) Question not attempted / AT we
82  Match List I with List IT:
ListI ! ; e List IT
a Jogalthambi. . . .\ . . i. Nashik (Maharashtra)
b. Devbamak ii.  Bijapur (Karnataka)
c.  Devarashtra e ey iii. " 'Vishakhapattnam (Andhra Pradesh)
d.  Pattadakal . iv. Shahabad (Bihar)
@mﬁm@uﬁa&\m T % F#a bk
T N " Lol
a g L. iR (W)
b. Tawlm ' - il dnge (@)
c.. T S il faemaTeeT (sriv )
d.  ugeEmw ' : iv. s (RreR)
Choose the correct answer from the options given below:
e o Ty feremedt & A wdy T FHT FAT DI .
(A)  a-ii, b-iii, c-iv, d-i (B)  a-iv, b-i, c-ii, d-ii
(C)  a-ii, b-iii, c-i, d-iv (D) a-i, b-iv, c-iii, d-ii
(E) Question not attempted / Gﬂﬁﬁﬁ LEs

31 e D 39 P.T.O.
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83  Consider the following statements:
d, time of the day and season. For every

Statement | : A raga is associated with a specific moo
raga there are six female consorts called raginis.
Statement I1 : Iﬁhgamafa paintings are pictorial interpretations of ragas anfbraginis.
How many of thelsthtements given above are correct? W
(A) Both Statemént I and Statement II are correct. O
(B) Both Staterhdht 1 and Statement I are incorrect. L
(C) Statement 168 correct but Statement 11 is incorrect. g

(D) Statement Iﬁpincun-ecl but Statement Il is correct.

(E) Question not attempted

Pr=fofas wat B |
wual: T an.aqa;mmwgmmmmkfmwgwﬁﬁ*ﬁ*

R P £l O
o 11 : e A 7 o afrd) @ R R #1 Ui
fra e o wudiE & e wm i ¥ o
(A) w1 oiT wEE-11 ) adt € (§8]
(B) wu=-1 3T Hy=-11 <! 7T €
(C) wua-1gE ¥ afed we-Il T ¥
(D) -I T ﬁﬂﬁ wo-11 9 & | B
E) W
O
84 Conmder the fuﬂ%g statements: o
1. Aditya-Ll ace observatmy with 9 payloads designed to study the Sk,
2. T]JE VELC take ‘image the Sun’s atmusphere, the Corona at h.lgh%ulutmn and time
LR Adltyz —LI carries an uin-awulet imager, 3 X-ray spectmmeter and four in -situ instruments to
measure plasima parameters. S
9y

How many of thd 4fatements given above are correct?
(A) Only one difitement is correct. (B). Only two statements agggorrect.
(D) None of the statements i§ correct.

(C) All three staftments are correct. _
(E) * Question nbfattempted m
forfefaa waeT TEfart Hifng:
1. 9 %ded % gy anfea-L1, mﬂa%ﬂmaﬁq&ﬂﬂmﬂﬂaﬂﬁﬂiﬁm&aﬁﬂﬁmwil
2. VELC gd & ufooed, Fe Y ST ZIEH R I BT B8Ry W
3. enfk-L] e dodved @ A & 7y O sregramdiee $T, EW—’(ﬁﬂ&ﬂz‘caﬁTﬂﬁsﬂ-ﬂE
SuETUl @1 qe fomar §1
oy T S el o @ R e w7 \0
(A) mwmﬁ%ﬂtl ) (B) v & wu wél ¥ n
(©) e g g B D) wéRwmwhiy 0
(B) srgafer we 133
31 ey D 40 : P.T.O.
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LES
g5 Match List Iwfith List II [3;
List IL(y List I1 LA
a.  Bird Roat Delta i.  Mackenzie {jji
b.  Estuariiz Delta ii. Mississippi Ny
c. Triple(@elta iii, Mahanadi delta &'}
d.  Arcuate Delta iv. Nile Delta
Choose the correct answer from the options given below :
(A)  a-i, bii, c-iv, d-iii (B) @i, b-i, c-ii, d-iv
(C) a-iii, t&, ¢, d-i (D) a-iv, b-iii, c-ii, d-itf
(E) Question not attempted (2
@mﬁwﬁ@aﬁ N Hfm: e
o 1 w11 L
a T i, W 0
b. qagqmm i, Pl &5
c. Tumdw il wEEE R
d. smeuE e v, A e
A R g Rt ¥ & W e o T AR i
(A)  a-i, blitde-iv, d-iii | (B) a-ii, b, c-iii; d-ivL43
(C) a-iii, BG¥, i, d-ii (D)  a-iv, b-iii, c-ii, d-i¢y
83 ¢ ¢

86 Consider t}%ﬂuwing statements: IR o 1 Y
Statement [ ; The ancient Buddha (Bauddh) Stupa is situated on the west side of Brahmasarovar.

StatementII: ~ The mound is spread over.an area of approx. three acres. The height of the mound
is about 4 m from the surrounding ground level.

In the thtgthe above statements, choose the correct answer from th%!jéptiﬂns given below:

(A) Both Statement-I and Statement-II are correct and Statement-II iij;ﬁe correct explanation for
Stateffent-I, 2

(B) Both SHBtement-I and Statement-I1 are correct but Statement-II is@il the correct explanation
for Staf¢ment-I . N : - 66

-(C) Stateriént-I is correct but Statement-II is incorrect. 5

(D) Statement-I is incorrect but Statement-II is correct. ;

(E) Question not attempted

Frefafaa suei w7 fram i e

Bl e wy wrE B it fan § Rew ¥ fh

B I : ARSI A e 4 Yo gon ¥ 1 s aeT @ o & ¥ Ty 4 m o S b
TR UG A F e g, A R g Rt ¥ § T v @ T DR

(A) ﬂﬂ’fﬂﬁﬁ-lGﬂrmﬂﬂ-ﬂﬂé’lﬁamzﬁm-nmﬂwwmﬁl LA

(B) i BH-1 ot sperr-IT il & it pu-11 -1 7w wdiecor k)

(C) mm-l%%ﬁ%mm—ﬂm%l oo

(D) &ua-17em ¥ st wua-11wd &

(E) ogufa v

31en D 41 P.T.O.

G Scanned with OKEN Scanner



87  Consider the following pairs :
1. BHARAT: Agri Infra Fund
2. Longpi pottery: Chhattisgarh
3. Sulur Bamboo Wind Flute: Manipur

How many of the above pairs are correctly matched? '
(A)  Only one pair (B) Only two pairs
(C) Al three pairs D)  None of the pairs

(E) Question not attempted

PFrfefea g wr fRrere #ifm:

1. W@ (BHARAT) : wift g1 %z

2. i g : s

3. g‘g"{ﬂh(Bambm)ﬁgw:trhgt

S g A & foee g wl g € 7
(A) Hawum g (B) #Hamargm
(C) =it Y g (D) 37 & ®r§ o g7 7
(E) sgofiaws
88  Consider the following statements relating to free coaching scheme under the umbrella scheme
‘SHREYAS’: .
I. It provides coaching of good quality for economically disadvantaged SCs, OBCs and
Minorities. ; : -

2. The ceiling of total family income under the scheme is Rs 8 Lakhs per annum.

3. Theratio of SC and OBC students is'70'30 and 30 percent seats are reserved for females in
+ eachcategory. ' R ; e

4. The ratio of SCs, OBCs and minority students have been fixed at 50 - 30 - 20.

How many of the statements given above are correct?

(A) 1,2 and 3 only | (B) 1,27and 4 only

(C) 2and3only . (D) 2and4 only

(E) - Question not attempted ' .

=smyas*mm¢mmmmﬁmmmmﬂhm%¢

1 ﬁmﬁﬁmﬂﬁﬁﬁmm,@ﬁﬁaﬁtmﬁmﬁﬁm#ﬁ&hmm%mh

2. AV & e 9RET B P o @) wera i whed 5. 8 @ b

3. mﬁraﬂraﬁé‘rﬁﬁrﬂrﬁfq’rﬁrw’?u:sn%aﬁtuﬁa«iﬂﬁﬁm%ﬁhﬂmﬁﬁmm%;

4. qgﬁr,eﬁ&rﬁmmﬁmﬁjﬁwaﬁmsmm:zﬂ%mﬂﬁﬂfﬁaﬁm%l

e Te Sutte wuet A & et e ad ¥ 2
(A) Faer 1,2 a3 (B) %mm 1,24
(C) &aw 2 st 3 (D) %Faw 2 ot 4
(E) &qafta wem
3l D 42 P.T.0.
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89 Consider the following statements:

1. The finest and the best preserved Baoli in Haryana is in Meham.

2. The coin moulds of the later Youdheyas of the third-fourth centuriesA.D. have been found in
large numbers from Rohtak.

3. fnimage of Kartikeya sitting in lalitasana on a peacock has been discovered from Khokrakot.
How n{g}f of the statements given above is/ are correct?

(A) one statement is correct. (B) Only th&statements are correct.
©) three satatements are correct. (D) None ofithe statements is correct.
(E) stion not attempted

hm‘::ﬁﬂﬁﬂﬁﬁﬁm: Co
1. * et oiit wad wi od A A ¥ 0o
2. Srrli-dirdt sraredt €. % wre & et ¥ Rt % 1 teaw & o wg A ¥

3. T T ¥ 4% wiiiied @ g B e @ & @
U e ¥ W Rhes muw e B i

A T HU W ¥ . (B) ¥awdimkad ¥
© et mer ¥ D) WA

tn
0w
o

90 Cans;mﬂle following Statements:
Arrange the following intangible cultural heritages in order of their year of induction into the
UNESCO heritage list (Oldest to Newest):
1.  Kalbelia
2. Budhist Chanting '&_
3. Ramlila m
4. bh Mela | O -
5. WTOUZ - _"Iﬁ £
Choosesthe correct option from the following: a -
(A) 3,1,2,5.4 (B) 1,3,285i4
(C) 3.4,521 gDy 201, 3,45
(E) Question not attempted rid ! -
Prerfin Bt T fem S B _
freffaa orgd wrepfis aiE ﬁtﬁﬁ%ﬂNESCD}Hﬁm@ﬁu&m%ﬂé%mﬂf (g & =g
AR Y] :
Ut
0o
0o
(B) 1,3,215:4
(D) 2,1,304)5
WO
[ : : 5
ey D O b 43 a0 P.T.O.
o o0
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92

Given below are two statements:

Statement I : The Virupaksha temple was built in the sixteenth century. o o -

Statement Il : The pavilion in front of the Virupaksha temple was built during Thie T of
Krishnadev Rai.

In the light of the above statements, choose the correct answer from the options given belay:

(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I is correct but Statement II is false.

(D) Statement I is incorrect but Statement II is true.

(E) Question not attempted

A T o R E:

Fl oA |RT w1 i e s & gor an

TR Il : Freame R & w9 deg @1 Pmfor gere & ww F g an

SO HY BT S 7 1@ g, M Rg o et F @ 8 ot @ 999 S

(A) iR Ia=igde

B) &= 1 ot w5 11 84 7rerg ¥

(C) %o 198 & wfthT e I o 2

- (D) =97 7o & Qe sae 1188 &

(E) orgui@ usd

Given below are two statements:

Statement I : Bhakii saint Shankardev addressed ‘Vaishnav Dharma’ as ‘Bhagwati Dharma’.
Statement I : Shankardev's main composition is Kirtanaghosh.

In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I is correet but Statement II is false.

(D) Statement I is incorrect but Statement II is true.

"(E) Question not attempted

'—ﬁ%a‘lmﬁqwf:

FAI : af dd dwa ¥ derg od’ @) wradt o wEet deiie R

FEI : 9ieRd @ THE T Bra ¥ |
wﬁﬁﬁaﬁfﬁmﬁﬂmﬂﬂ,ﬁﬁqw&mﬁﬁﬁﬂﬁwmwm:

(A) ®ua 1 3w 11 357 98 ¥

(B) @97 1 ot & 11 99 e ¥

(C) == 1981 & ofte %5ee 11 e B

(D) @u | 7o & et dem L wdi &1 | :

(E) ergafta we :

31 {G!}__D 44 . PT 0

G Scanned with OKEN Scanner



93 Consider the following pairs :
1. CREST: Hosakote

2. Solar Observatory: Kodaikanal

3.  Radio Observatory: Gauribidanur

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs
(E) Question not attempted

1.  #®& (CREST) : dmr: (Hosakote)
2. HR A9 : PreTgEw (Kodaikanal)

3. X Jusmen : WREER (Gauribidanur)

v g ¥ A R g ) i £ 7
(A) %aw s gw L (B) ¥aw g™
(C) =+t dF g : o (D) sHABRNgEHAE ()  erefa v

94  Consider the following pairs: - 1 s
1. Intelligent Waterbody Management Project : Tamara -
2. AMRUT 2.0 : Preserving surface and ground water bodies
3. PLASHBOT : Diffuser Aerators for bottom of water bodies
How many of the above pairs are correctly matched?
(A) Only one pair (B)
(C) All three pairs

(E) Question not attempted
Frafafas gy at e it
1. ¥wile greardl A WS ; o (Tamara)

2. amed 2.0 - gae A e Fremat @ g

3. PLASHBOT : = sifsw % a & fo¢ foams ames

Only two pairs
(D) None of the pairs

Fure gt & | fee g vl gt ¥ 2
(A) ae o gH el i (B) e & g™ _ _
© =wRAHIH, 00, ' D) FHAFE NguTE (B) agaiE us

95 Consider the following pairs :
1.  Advika : Chickpea
2. Panchamrit : India’s Climate Action Plan
3. Mission Life : Life Style in harmony with ecological well-being
How many of the above pairs are correctly matched?

(A) Only one pair (B)  Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

frreforfaa gmar wt feramt @ifn

1.  sife (Advika) : feedy
2. duma (Panchamrit) : 9T(ad &1 M3He QA A
3. fiem LiFE : wiitferfes seamr & arg el o sl e

S gl & & e g wh iR ¥ 7
(A) ﬂg:lqﬁgrq L (B) w3 g : -
©) wh & g (D) THABERgwad (B) ogoRa o

| P.T.O.
31 ey D 45 .

G Scanned with OKEN Scanner



96 Match List I with List II: List II

List I . Munis Al Akhaah
a.  Abul Hasan al Hujwiri 1 Fawaid Al Fuad o
b.  Kuli Khan i“ iashf ul Mahjub ()
c.  Jahanafd . urakka-E-Delhi €3
d.  Ameetthssan Sijji Dehlavi v. M (5]
Tt I @ ﬁmﬁﬁr 11 & wifg: 1l %
™I o | o o AETE
b. FErEH t
. wer i, ®vheW TEIT  (f
: g
a.  oire st Roosh 2 B JURER -
Choose the ddfect answer from the options given below:. {1
ﬁ%ﬁqwﬁ%’rﬁﬂﬂﬁmﬁrwaﬁﬁ@ o4l e o (vs)
(A) a-ii, bifyc-iv, d-i AB)- A CHR A
© @i, bifpe-i, div @) e, biv, e, At
(E) Question not attempted / mﬂﬁﬁ.’ﬂ g
s
97 Match List Bi¥ith List II: - ) W
List Iw ' IList'ﬂ. 3 , @
a  Dimug® . i. . Sindh Area u
b. i, Mesopotamian Portd
c. Mel% 2 jiii. Bahrainlsland 09
d. iv.  Makran Coast (Balochistan)
g [ & ﬁﬁm '@ nd ﬂﬁfﬁq |
LS - | w11 a
a. faga bJ v ol oo E R aRe O
b. ﬂ*{ﬁﬁ i A Re sy
c. HEH & | il Tedw dy 0
d 9T (0 iv
L R 2 (S
Choose the correct answer from the options given below: m
#ﬁ%fﬁqwﬁ:ﬁ&fﬁﬁwwmwm.
(A) a-ii, b-iii, c-iv, d-i ; . LA
o i T (B)  a-iv, bi, c-iii, d-ij ¥
(© a-ii, bgl, c-i, d-iv e > :
(D) i, beiv, ¢-j, d-i; W

(E) Questign not attempted / Tt T

(51 Gy -

3l ey D )
fa L 46 . m

¢
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98 Consider the following pairs:

L Ararp—i-K.ausar : Narnaul 2. Tomb of Sheikh Tayyab : Kaithal

3. Bhai ki Baoli : Meham(Rohtak) :

How many of the above pairs are correctly matched? ,

(A) Only one pair (B) Only two pairs H

(C) All three pairs | (D) None of the pairs ,

(E) Question not attempted

freftitae gt wt R i .

1. SH-T-HER A 2. 9@ dgg @ wity : Haw '

3. T 3 9 : en(TeaE

SYdRT g ¥ F R g wd g ¥ 7

(A) % OF gm (B) ew &g

(C©) =h e gm (D) THABEDgmad (B) omufays
99 Cnnside; the following statements about Bhumia or Khera:

. Itis the god of the homestead or the village.

II. Bpumia is worshipped at the time of marriage.

I First milk of cow or buffalo is always offered to Bhumia.

How many of the statements given above is/ are correct?

. (A) Only one statement is correct. (B), Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted
YT ar @ A # Pretatan suei ax fram Sitm:

L =% Eres a1 i &1 dam &
0. st &t gor faame % w1 @ &)
O =g a1 %9 &1 Teem 3y wden wivan & aufta fem smar |
fow T U Wl A @ fhon e e R ?
(A) Saw UH HYA Th B _ (B) haw o1 &y g ¥
(C) it i waw wél &) D) sENFmEAEE (E) ammia e
100 Match List [ and List II: '

List I List IT
a.  Ghethi i. Milking animal
b.  Laggar 1.  Outer house
C. Basan ili. Neck
d. Nohra iv.  Pitcher
Select the correct option from the following given options:
(A)  a-i, b-ii, c-iii, d-iv (B) a-ii, b, c-iv, d-i
(C)  a-iv, b, c-ii, d-ii (D)  a-ii, biii, c-iv, d-i
(E) Question not attempted
e [ & gat 11§ P &

Tl . w1
a. 83 (Ghethi) i g ey
b.  @r (Laggar) i, gt
c. 9159 (Basan) ifi. T
d.  +®Ew (Nohra) iv. e
e R g feraedi § § W Tt @1 gaw i s w=
(A)  a-i, bii, c-iii, d-iv (B) i, b-i, c-iv, d-ii
(©)  a-iv, bei, c-ii, dii (D) a-ii, b-ii, c-iv, d-i
(B)  srgafa uw

31 ey D 47 P PT.L:
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